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(14) ol war v sawsdls 4 42 8. yle-d (1) State objectives of cost accounting.
Mg 3. 6 8,

~

(2) Write a arguments in favour of inclusion of interest

in cost accounts.
Yyqt

(3) Explain characteristics of incentive wage plans.

() wdavdd »Rs et w1 squad-t 56l sd. 4
(4) Calculate the Economic Order Quantity (EOQ) from

®) 3 2l Rl well G2 = (it 2l 10 the following information :

Nelemt wfaa "Fl'i 2}15&1?[ 5 Rarwd 2l Annual Consumption 4000 units
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Cost per unit Rs. 30

Cost of placing an order Rs. 15

Cost of storing unit 10%

(5) Give the proper method of costing for the following

©)

AC-545]

industries .

(1) Brick works
(2) Hotel Industry
(3) Cement Industry
(4) Road Transport

&)
©)
™
®)

Building Construction
Oil Refinery
Printing Industry

Electricity.

The cost of producing 1000 units of a commodity

consist of :
Materials Rs. 30,000
Wages Rs. 20,000
Overhead Charges Rs. 10,000
(Fixed and Variable)
9 [Contd...
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The company produces and sells 2500 units at Rs. 80
per unit and makes a profit of Rs. 54,500. Find out

the amount of fixed and variable overheads respectively.

(a) Discuss the advantages and limitations of

Cost Accounting.

(b) Write short notes on : Cost Unit and Cost Centre.

(a) Write short note :

(b) The following information has been obtained
from the production department of one factory :
(1) Workers as on 15! January 3040

(2) Number of workers who left the
factory in January 640

(3) Total appointment made in January 800
(4) Appointments made against newly
created posts 400
Calculate labour turnover rate by replacement method
and joint method.

OR

https://www.hnguonline.com

Halsey Plan and Rowan Plan.
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(@) Explain the difference between time-rate wage 7 Particulars Maximum | Average | Minloum
) (1) Reorder Period (Weeks) 5 * 3
and piece-rate wage methods. (2) Usage (units per week) @ 70 60
(b) Dhruv has taken 144 hours to complete a job. 7 OR
The wage rate per hour is Rs. 10. If he has received 4 (a) Write short notes on : Bin Card. 4
Rs. 1728 as total i
as total wages according to Rowan plan, (b) The following is a summary of receipts and 10

what would be the amount of wages earned by him issues of material “A” in a factory during March,
. 1
according to Halsey plan ? - ? j

2014 :

. = =%
(a) Write a difference between FIFO method and 4 3 g Date Particulars Quantity Total
LIFO method. ;: ;: (kg.) | Amount (Rs.)

z g
. € = 1-3-14 Opening Balance 500 10,000

(b) From the following data of Shree Rajavi Ltd. find 10 g g
out : % | 4-3-14 Purchased 3500 63,000

@] o]

= =
(1) Reorder level E = 7-3-14 Purchased 2000 44,000

o o
(2) Minimum level g_ § 12-3-14 Issued 2400 -
(3) Maximum level 14-3-14 Purchased 400 10,000
(4) Average stock level 18-3-14 Issued 2000 -
(5) Danger point 19-3-14 Purchased 2000 30,400
(6) Safety stock 24-3-14 Issued 3000 -

Maximum time lag for immediate purchase is half

week. Reorder quantity 1200 units - The material issued on 12-3-14 and 18-3-14 were priced

on “FIFO” and LIFO basis respectively. It was decided
GAC-545] 12 [Contd...
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to price the issues by “Weighted Average Method” from
20-3-14

Prepare stock register for material.

5 Calculate the machine hour rate of machine from the 14
following information :
(1) Price of Machine Rs. 6,70,000
(2) Scrap value of machine Rs. 48,000
(3) Installation charges Rs. 18,000
(4) Useful life of machine 16 years
(5) Rent of the factory per annum Rs. 48,000
(Five other similar machines are arranged in the total
space of the factory)
(6) Insurance premium of machine Rs. 13,400
“(per annum)
(7) Power consumption of machine Rs. 1,20,000
(per annum)
GAC~545] 13 [Contd...
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(8) Electricity for the factory half yearly Rs. 36,000

(Machine uses 10 light points out of total 30 lights

points in the workshop)

(9) Wages of workers (per worker) Rs. 7,200

per month

(There are 6 workers in the factory who look after

all the machine equally)

(10) Labour welfare expenses (per worker) Rs. 4,800

per annum

(11) Supervisor’s salary (per month) Rs. 6,000

(Supervisor spends 3/4 of his time in the supervision

of all machines equally)

(12) Hire purchase installment of machine Rs. 40,000
(including interest annually Rs. 3,450)

(13) Repairing and maintenance of
Machine (during useful life) Rs. 1,60,000
GAC-545] 14 [Contd...
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(14) Power consumption of machine is 4 units per hour

and rate per unit is Rs. 6.

OR

S (a) State the reasons for over absorption and under 4

absorption of overhead.

(b) From the following information segregate the 10

semi-variable expenses by high and low and point

method and find out the fixed cost :

Month Output Semi-variable
(2014) (Units) overheads (Rs.)
January i,SOO 7,000
February 1,250 6,250
March 1,750 7,750
April 2,000 8,500

-May 1,900 8,200
June 2,350 9,550
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